4ith #1E
RE 1E0s (1508) AE 1R0E (1508)
|E HIREM 5 B #IRER 79
1 3468 x 723 = 1| $42,790 + &/ =
2 70/ X 2,608 = 2 /RELIEE + LYY =
3 56 x /7703 = 3 | Q40,/30 + 370 =
4 SH437 X ST7Y = 4 78,736 + &7 =
5 993 x  40// = 5| 4/3.490 + 537 =
6 /.7 /4 % 45/ = 6 370,634 —+ 506 =
7 378 % /578 = 7 /S E54,3/ 6+ S#é =
8 60/ x 5296 = 8 39,/20 + /2=
9 4,77 % /7L = 9 / RLLL0  + /60 =
10 2/ x 592/ = 10| /9258 + &433-=
11 S0 x  &0,994 = 11 7,775 + S4S5 =
12 5,374 X EL7 = 12| 3748,/63 =+ &3 =
13 26,3/ 2 X 68 = 13| 64426 + 5/ 4=
14 55,286 x /3= | /9/.8624 + S04 =
15 P74Y % §09 = 15 79,097 +  4,/463 =




REL

E’Hyﬁ HIRBEEE 743 1710= (150)
1 2 3 4 5
7.477 67 3,34 L SH./ &4 /0.L03
-/,006 L8,700 LS5 L /. 7/ % /LS
-§86 7,78 67,388 ~L/.7EY 6,6/ 6
55,754 65 2,520 7,06/ 6,3/8
7.7 74 L4568 6,54 L/ / 3/,566
765 4,766 L0/ 3467 470
-40,8538 7,7 L4 768/ / -§5&64 §,785L
6 1 8 9 10
77.3/L g4/ /75 L7,067 7,648
5./ 4 6,55/ 36,766 56 -570
/03 57,68/ 5.7/0 7,003 -3,366
7,480 7,756 3404 7,002 76,60/
8§/ 4L/ -/&8 /877 Y2472 /77
6,877 ~L,554 3./ 7/ 762 —&54,/06
/7Y -X7,076 S LO4E 5./ 43
11 12 13 14 15
65,3/ 4 748 5.4/ 6 VAN 537
— 6,474 S§#.7L6 687 <./ 70 56,04
~L/ 7 L7 6,550 L7 7Y L3 L /O
LES 387 77,504 <7/ 7 §474
6,467 §4EL -&§/8 74,353 §7./ /L
2,3/ L 5,07 <770 L,L8 0 <,050
-/ 57 3,760 ~72.783 77 L8574
E3 FR RE &B/B
/150 /150 /150

XEEEHIRALL ETER




A%R =9

FE  HIRER 75

RE

110 (1505)

1 54 % /7.2/3=
2| s/82 x  Sa4-=
3| 2935 x 756
4| 84002 x §7 =
5 §7/ x  4.056-=
6 g4/ x /547 =
7 720 x /082 =
8 36 x 20589 =
9| 888/ x  3/3=
0] 78089 x 62 =
| 2247 x  335=
12 4/5 x 2060 -=
13 507 x  4.066-
Ml 3780 x  702=
15| 9.009 x 604 =

REL 1RE0s (150)
Bf%%: HIPREFRE 743
1 L0 5,200 360 =
2 445876 76 =
3 353,358 706 =
4 76,/ X0 4,005 =
5 L7 6460 &/ =
6 SHO4EH S4é =
7 554,875 5,605 =
8 VAN /5 =
9 AN /AR 3&8 =
10 /33,004 &// =
11 #6,665 /83 =
12| X853,072 2,75/ =
13 /78,080 420 =
14 737,808 7/L=
15 6/,235 /85 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)
1 2 3 4 5
/57 52,604 /6,076 45503 2585
9,05 977 742 2.328 536
/789 ~20.09% 5756 ~/ 69 3.088
37/ ~362 54720 64/ 9 28.59%
/653 ~/.903 2803 -/0.090 9/ %
6,048 387 2/0 /7% 76,786
33.864 JH4EO 9,853 ~3.029 9,645
6 7 8 9 10
7./ 20 640 5.69/ 6,53/ 49,523
56,873 97/ §/.00/ ~283 782
~409 3.343 472 479 #4,.39%
~2./ 50 4,638 /576 ~2./09 289
~/0.2/3 56,348 5/.300 3/.702 60,042
4727 53,67/ 4,577 6,523 7469
675 4.2/2 03| —24.097 5,666
11 12 13 14 15
562 3,847 5./ 66 7789 673
62,5/ ~298 334 —779 62/
69,20/ 64,900 55,072 439 70,380
3,592 486 942 ~5./6% 7,939
8,394 ~2.652 39,283 33,849 65,844
490 -/9.983 5,675 6,325 /672
6,383 2.570 9.37/ ~/0.203 4.8/ /
4 2 R &/%
/150 /150 /150

XeEBR100R L LTEE




4R

30

FE  HIRER 75

RE

110 (1505)

1 5435 % 77L =
2 3./ 74 x L/ 6 =
3 55/ % 7,00L =
4| 77,576 X L5 =
5 /RS X 5,/07 =
6 &0/ X% 5,03 =
7 58 x  40.L77 =
8 §0/7 x L3530 =
9 402 % 7420 =
10 57 x /) H4LT =
11 4,032 % 5/0 =
12| 3/.L4L X 57 =
13 S/7 X 2,654 =
14 5,040 x 765 =
15 L/ L X 3.5/7 =

PR IR 75
1| 278500 7,250 =
2| 505,49/ 569 =
3| 445593 703 =
4| /70256 /& =
5| 64,738 ysy =
6| /787/2 2,008 =
1| /79.540 /88 =
8 | 295,760 73 =
9| 59.844 3,322 =
10| 259.5/2 553 =
1| 508302 742 =
12| /2/.90% 30/ =
13| S25.248 42 =
| 79220 340 =
15| 258,624 288 =




BEE 1R0A (150:)




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
704 L7,503 7,086 77,8/ 4 /HLT
7,780 — 647 4E0 480 4,650
7576/ §LE 54,530 —6854 /75
7,673 <,750 567 -L7,770 74
75703 7,753 4,330 4,370 57,738
4L /7400 57,506 -/.566 74/
580/ -/,006 5,238 (768 74.0/3
6 1 8 9 10
V4L 756 <50 77/ /TTES
L/ 7 L3 7487 63,200 3,7 3L 7343
—/&5L L8077 -§507 63,6768 5L
-3.765 /3. L4 3,746 58./77 L340
-/0,0L47 J668 5.7/8 367 S4.745
66/ 7,670 aE RN 7450 3,577
3./ 5% <./ 77 —/ 2,0LL 5,607 /L7
11 12 13 14 15
55685 783 556 64,66 3.047
34 643/ S4064 —7L26 67,237
75./75 —§45 /5,308 — /74 477
577 -,030 LS50 §Lé 8§44
/00 37,6L4L 7.6587 L5 5L /7L
/6505 —/ 2,205 /87 5,748 L7 4
68,067 5474 5,808 ~ L, 7 EL 7,/ 07
3 PR R &/8B
/150 /150 /150

XeEBR100R L LTEE




4R

F4[E

FE  HIRER 75

RE

110 (1505)

1 L LOL X 5/7 =
2 563 X% /577 =
3 43 x 78,00/ =
4 §058 X% 4068 =
5 667 X L,6L7 =
6| £7.85/85 X 58 =
7 6653 X /577 =
8 LE x  33,7/7 =
9 5,080 X% 44 =
10 L36 X J. L5 =
11 5873 x 7/0 =
12 /07 X L5850 =
13 §77/ % 768 =
14| 38.LL4 X LY =
15 4,065 X% L60 =

B{%%: HIPREFRE 743
1| 4485/ + 4/ =
2 /9R/ R0 + 8005 =
3 7,784 + S4E =
4 LL3,537 + 07 =
5| 572,600 =+ 720 =
6 2958 = /97 =
7 456,576 + 707 =
8 gE450 303 =
9 37,768 + SY4Y =
10| 347,648 =+ §76 =
11 457,730 = 5030 =
12 370,276 =+ 74 =
13| /09,440 + §55 =
]| /83,222 =+ 38/ =
15| 639,/86 =+ §4 =




BEE 1R0A (150:)




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1fE10m (1505)
1 2 3 4 5
2.960 5.2/0 53,350 273 /33
625 ~36/ 9.329 -/86 7,806
3/.7/4 39,657 /) &4 §/.692 YRY
/34| /.84 90/ /.0/0 770
2058 920 638 6./ 80 2803
8./ 64 ~ 4,335 98./38| -34.82/ 2,60
Y5249 5./23 4,593 ~ 4,035 74,603
6 7 8 9 10
944 §./56 5/.600 5§82 5./ 55
/897 S4.250 ~408 32,400 309
8876 §.354 &/ 6 8./ 64 5§25
RY 93,826 §.46/% 6.0/ 0 9/7/9
8./ 84 529 - 5,622 ~987 36,039
/4805 5,359 ~ 25,557 ~/ 2,554 84EY
6,394 582 3.65/ ~2.890 2.399
11 12 13 14 15
574 58,675 74 7.070 9/ 7
8849/ 650 4767 263 738
~ 28446 ~ /358 37,002 /2,056 65,69/
4780 &Y 7,93/ 73,932 3.//7
8,009 ~ 6,633 504 4,297 2,970
—499 78/ 44,2/ 3 9,033 S 4,997
7050 -/7.500 /934 506 6,358
4 2 R &/5
/150 /150 /150

XeEBR100R L LTEE




A%R =5

FE  HIRER 75

RE

1RE10m (1505)

1 50 X% /077 =
2 3,643 X LEL =
3 /7E X E/ S =
4| L8542 X 7L =
5 §.006 % 525 =
6 L0085 X% /08 =
7 76 x 7854/ =
8 06 x /530 =
9 | 62,506 X% 7/ =
10 58 x 30,70/ =
11 LYY x 3.LE53 =
12 3./07 x 5§50 =
13 $.7/4 x L37 =
14 L35 X 4,040 =
15 74LE5 % 487 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 /8E5,5LE 38 =
2 73,205 /R =
3 L/ 7,260 765 =
4 L7 6,740 508 =
5 77,360 S/0 =
6 607,783 7,007 =
7 376,330 66 =
8 /S THES/ 577 =
9 /57,8500 §50 =
10 | L#446,645 &/ =
11 /S OHOS 423 =
12| 36,7854 5,/ 06 =
13 388,760 §&0 =
14 b2,/ 55 2,005 =
15 557,302 S585L =




RE
ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)
1 2 3 4 5
775 3/5 /603 56,657 /476
6,392 % 5§25 ~/7/ 2.5/ /
3./ /4 63,578 2/ 464 ~5.988 3/%
/58 4,333 4856  -33.870 923
6,803 ~2./90 §7.976 567 22./82
5/.5/8 9,224 378 4.2/0 77,354
66,382  -/2067 9,063 /576 7,688
6 1 8 9 10
348 3.833 4,040 4,953 §34
7,25/ 540 §9.298 2.050 69./ 57
7.57/ 42,854 703 ~364 7,723
929 §.750 7,608 22,2/ % /4L
79405 —22.647 22,878 ~/.385% 53,933
/0,730 ~874 686 992 5,094
4739 ~5,993 2.8 /437 208
11 12 13 14 15
572 55430 §9/7 §7.799 243
9,604 ~79/ 8403 ~7.685% §./3/
25,873 658 5§78 473 5§23
423 2,600 /7904 ~//./34 5./ 34
§.870 NI 47,76/ ~973 40,2/ 9
3/ .343 590 6,299 3,645 §7.08%
§2/0| -2/./73 5§23 7./ 84 7,044
% B RER &/%
/150 /150 /150

XeEBR100R L LTEE



4R

6=

FE  HIRER 75

RE

1RE10m (1505)

1 505 X% 6,420 =
2 42 x 57,006 =
3| 75445 x /7 =
4 5§00/ x 06 =
5 777 X 3./ /4=
6 /60 X 4,030 =
1 5735 x LOY =
8 760 X /308 =
9 7,453 X 5§65 =
10 LES X 7,003 =
11 /L X LL/55 =
12 4,066 % 508 =
B 4742 X L& =
14 7,534 X /L7 =
15 3,087 X L70 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 44L0OES 68 =
2 SEE 440 488 =
3 SLES00 730 =
4 772,708 &5/ =
5 /74EE0 L4E =
6 75,852/ S%/ =
7 47,304 7,706 =
8 68,768 307 =
9 /73,706 442 =
10| L3/,077 33 =
11 4ESEH /008 =
12 /58,355 7865 =
13 SEL /S 5,733 =
14 /TELELE 456 =
15| #246,700 &8 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
L7 6 77,765 4,/36 6,384 77/
4,085 —35L &L/ 7 /750 7,373
5768 774 577 —-78& 78.8/5
7,760 -8.040L 6/,200 —/ L4 L AN
7H4.EL7 ~ 2,008 7.L837 77,658 /585
2,555 6,054 758 L4S 3,76/
/L,630 /HLS 53,564 —45,045 635
6 1 8 9 10
6,085 §LEE 6,474 42,/0/ L7 L
YL7 6,764 7/ 4 6,675 5,354
-S43 473 6,756 -58/ 77./87
-3,55¢& /s LLE 702 —/LETY 630
S#.858585 65,476 72,07 740/ IS4/ 7
-/ 456 63,260 77,77/ /.37 §547
6,670 656 6,475 S03 S4438
11 12 13 14 15
6,655 5,533 3,554 £67 385747
4,062 —L47 6,400 -/ 3L /373
/3,737 7.7 54 §,767 78,975 §50
L3/ 57,877/ 6,667 7,785 650
4,675 -/.530 7./ 3/ -5,576 5,363
755 574 435 04/ 57,06
7,28 L -0,076 7LE -558.5L4L 7,466
3 PR R &/&
/150 /150 /150

XeEBR100R L LTEE




A%R =7

FE  HIRER 75

RE

1RE10m (1505)

1 L/ 7 X 3,775 =
2 LS X 46,0068 =
3 /878 X Y74 =
4| 7480/ X §/ =
5 407 % 3.0/8 =
6 L4/ x 4,355 =
7 3./ 60 x J05 =
8 | LO.7/L X 73 =
9 7/0 x <,583 =
10 3./ 08 X SL0 =
11 7,56/ % L7/ =
12 ‘374 x 47 =
13 43 x /3344 =
14 3,050 X 5/8 =
15 E37 X% 3,653 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 S/,768 + /08 =
2 L56,505 =+ S4/ =
3 L33,928 + #4332 =
4 353,500 —+ 570 =
5 LEL4LEO + 433 =
6 /4SS YL - LL =
7 L56,85/0 =+ S4L =
8 4/0,043 =+ &7 =
9 740,908 + 7,582 =
10 /TEREYL + L/ L=
11 §86,/70 =+ 370 =
12 /74L08  + LLYL =
13 672,092 + 3,004 =
14 378,074 =+ &/& =
15 4885,2/5 53 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
§Lé 77340 LE7 4,543 L 644
6,434 673 /042 7,070 57
S03 —455 /)78 —S4L /507
SYRINEZ -3.753 3.6/& -/.707 YOL47
58408 4,720 63,320 5. 843 /L0
L5857 6,766 4,0/0 ~ Ll LH S Lol 7 &
6,654 ~/,5EY 756 7/7 37,557
6 1 8 9 10
708 <,787 756 /77 L0,007
63,874 L.56/ /0./07 57,6520 §/7
5§55 586 6438 5357 3,304
—§5L6 4304 7747/ -§/7 6,577
=7,/ 20 75,76 6,585 -33,8588 7/
-</,050 4L/ 637 7.0/ 537
7.378 5/8 5,/ L7 5,/50 8774
11 12 13 14 15
528 /77 §./68 %,050 765
&,/ 7/ S L4/ 73,275 7/.008 3,778
/47 §8,7/0 7.77/ -7/8 6,774
-/.073 <58 Y27 -3./08 S5LE4L/
52,20/ 6,7 6L S44 8,773 LA LO
6,634 R 78,455 353 76,745
-30,/50 5578 4,36/ ~L/ /S 736
3 PR R &/8B
/150 /150 /150

XeEBR100R L LTEE




4R

58[m

FE  HIRER 75

RE

110 (1505)

1 /&7 X LELS =
2 43 x 72,/ /8 =
3 §.006 % 6L7 =
4 7.7/6 % 375 =
5 L7L X 6,040 =
6 /7 X 5/483 =
7 S.04L X LO5 =
8 | &&447 X 53 =
9 358 X /766 =
10 707 X §/0 =
1| 50,70/ X 66 =
12 2,560 X 70 =
13 4/ X 5,773 =
14 7,042 X /06 =
15 LLSE X 5,546 =

PR IR 75
1| 767028 +  /86=
2| Sa2436 = S4/ =
3| 425844 = 46708 =
4| /22488 +  s02=
5| 76,9585 + S48 =
6| 206400 +  240-=
1| #esues =+ 93 =
8 | 460506 =+  775=
0 | 57/.238 + 94 =
0| §4.660 +  5/0-=
| 28/.3/2 +  472-=
12| //64e4 = 2,008 =
13| 262739 =+ 39 =
14| /62260 + @ 465 =
15| 55272 + 2303 =




BEE 1R0A (150:)




RE

ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)
1 2 3 4 5
&7/ 59.30% 48580 248 /982
37,063 6./ 77 77 ~/39 66,78/
/5,074 /.30/ ~2.790 7,080 6,028
92/ 52,857 — 453 —4E sS4y
4,367 502 45288 76,605 363
8./ /6 6/ 8 2456 ~36.229 8835
5,073 5879 -/ 6,500 5,299 27,867
6 1 8 9 10
6,060 53.357 /47 5466 6,086
3/.650 9./ 66 9,234 ~ 484 7/7
~4/% 7,665 23./98 ~ 2,304 7,600
492 3.0/ Y4474 44,525 4/3
2,007 275 9/.68% 5§72 9/.695%
~20,604 579 223 /)& 5/.0/8
~2.980 36.0/9 /HOZ ~/0,562 4,606
11 12 13 14 15
669 594 /7403 6.379 §.500
5437 3,640 206 ~&/% 33./ 2%
59,247 ~ 244 2,362 370 6,662
/637 4/.290 44,850 33,480 &/ 4
6,849 7,860 3.324 ~7.869 3,402
66,086 ~20.786 /55 5,394 25,869
982 ~6./27 /00| —25.002 526
% 2 R &/%
/150 /150 /150

XeEBR100R L LTEE




A%R =0

FE  HIRER 75

RE

1RE10m (1505)

1 546 x 2080 =
2| /7,868 x 65 =
3| 326 x sas-
4 /14 % 4009 =
5| 2692 x 34/ =
6 75 x 28774 =
7 408 x 5,096 =
8 706 x 9420 =
9| 9.66/ x &/
0| $3.9// x 53 =
| 380/ x  240-
12 g4 % /9.048 =
B 2/79 x  §75-
14 680 x  3.092-
B /335 x 77/ =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 / 68,2/ 6 SHY =
2 63,7/ 4 S74 =
3 STH4L400 480 =
4 /33,056 /78 =
5 /RS TT 73 =
6 470,640 7,080 =
7 58,708 4,707 =
8 707,264 56 =
9 563,580 707 =
10 / 86,/ 8L LSY =
11 /34,603 &7 =
12| #4857,/ 44 S04 =
13 77,568 L5646 =
14 30,55 7/ 6 =
15 536,268 &,004 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)
1 2 3 4 5
542 298 446,/25 /.60 §.500
9,645 65,590 3,845 56,228 76,288
VY5YS ~45% 33| 3343/ §,959
59,246 9748 8,364 928 8,664
2,006 ~2.78/ 8§,/ 39 ~ 2,549 /)9
/56 2,048 20205 7,583 39./22
7.220|  ~//.842 220 ~52/ 03
6 1 8 9 10
95,800 2./ 63 /363 /0,506 45,/83
—247 24.0/7 3,244 249 959
~3.454 5885 49,685 3.087|  ~//.0/6
77/ §20 38.//% 6/ 6 5,890
3./ 82 2/ 433 655 67,768 4,302
~ 45,908 4/5 /579 7,024 ~//3
2,043 2,577 555 2,860 ~ 4,569
11 12 13 14 15
620 208 /07 5865 4/ 470
5,554 §0.440 4.2/ 6 340 ~4/9
26,79/ 5,959 2,424 93,043 ~8.08%
o, ~94% 7,34/ 394 /)30
52| -/8.530 58,7/0 4,08 —a4./56
4,789 /56 96,289 //.967 3./ 87
40,/ 08 ~/.084 230 5,662 3,67/
% B R &/%
/150 /150 /150

XeEBR100R L LTEE




4%k #10@

FE  HIRER 75

RE

1RE10m (1505)

1 /033 X §0L =
2 L5 x &E/,8528 =
3 bH4T7L X /)T =
4 5,074 x 380 =
5 378 X 3,775 =
6| 758554 x L& =
7 376 % L,070 =
8 447 % 6,677 =
9 | L5005 X /& =
10 S74 % 6,/ 857 =
11 #4570 x 506 =
12 EL x 47,675 =
13 /S SET X 58 =
14 5777 x 55/ =
15 EX0 % 6,/07 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 L685,8576 76 =
2 /77,748 S06 =
3 SL7,600 420 =
4 LEL, 704 LS8 =
5 $0/.,776 74 =
6 77,35 SRS =
7 LE/,8580 §70 =
8 SLL08/ 4,00/ =
9 /37,777 L3 =
10| 305,067 577 =
11 / /5375 S84 =
12| 57/.725 7,643 =
13 46,/ 70 6/ 5 =
14 47,7/ 6 YL =
15 78,/ LY 4EL =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)

1 2 3 4 5
2395 36/ 52,40/ 2459 3.7/0
37,560 504 ~54/ §/0 5368
/78 9,946 ~ /853 3/.60% 43,899
6,024 46,870 9,904 5,32/ ~209
JYYS 7,643 4,096 /)3 2977
6.3/3 39.540| /2942 65897 ~/0.264
684 7.39/ §90 5,08/ ~ 2,254

6 1 8 9 10
/73 Y572 529/ 587 35,652
Y%y 89,240 ~942 385,842 280
994 7,207 — /245 ~/.990 /8,094
S Y52 54 §&9 7.8/7 3,468
5,522 4472 9455 -703 /.34
2.4/ 9 /&) 46,085 20,058 3.932
68,23 2./89 ~/ /364 8,045 S4%

11 12 13 14 15
40,354 40,075 7,973 2,200 2/5
5,683 ~/ 8% 359 68348 5,22/
4,529 5,030 2,588 ~ /.98 76,055
88,098 ~3.988 32,765 998 8,00/
997 234 69,5/ % ~ 543 7,337
§.30/ ~20.59% 4,577 §.075% 426
623 /054 334 -29.60% 746,884

% 2 R &/%

/150 /150 /150

XeEBR100R L LTEE




4%k #11@

FE  HIRER 75

RE

1RE10m (1505)

1 J66 % 4,070 =
2 L,655 X §7L =
S| /7767 X /&6 =
4 b4/ X 73 =
5 650 X 6,504 =
6 LE X bELIT =
7 J56 % L,005 =
8 7,07/ X /40 =
9 | S7.744 % 47 =
10 67/ X 453 =
11 go4 % L0033 =
12 E7 x /L4 =
13 J05 X% 6,780 =
14 4,255 % L/ 6 =
15 LYLT7E X Sé4 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 LEL LSS 34 =
2 57,776 4LL =
3 L0O7,070 35/ =
4 /&7 34 &,0864 =
5 487,600 70 =
6 YYEESL SLL =
7 /70,575 L,007 =
8 S40,/ 70 &&=
9 68,250 L/ 0 =
10 4,5/ L VAVANYA
11 /86,276 &/7 =
12| QO#4,525 303 =
13| 437,266 74 =
14 #33,0/6 477 =
15 450,950 bl =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
6,0/0 ARWAN] §4& 32,8568 73,600
<53 78,357 3,54/ 7,067 —3.L7&
L6,08% LYLS <,008 4,7/8 S84
-3/8 6,785 L5857 L 8470 47/
L, 7 3L 600 36,503 588 §.06L
-//.570 70,427 /664 /06 -56,/75
-5,667 7,04L 787 75,7 AL -6,077
6 1 8 9 10
7.7/ 5,3/8 E4.7/8 7,0LHL 67,855
-/5& /ET737 —74& 2,605 5,567
L37 776 /756 VRN 63,373
L5046 7,006 /.30 47,050 3,700
§./73 5/,088 58/ 533 765
-6, 743 LALTS ~20,L3/ 378 §76
-//,005 470 <,07 5 /476 4,057
11 12 13 14 15
/777 E478 e 768 7.854/
533 3,728 LL,608 3,074 SEE//
677 566 —4&/ SE 447 L&/
74,567 38745 7./ EL —/.,720 7,558
60,/ L8 %,030 7,600 —X07 5§67
/005 650 —LH4 56 -33,560 50,704
4,375 /7,006 —/0,4dL7 &,/ /5 /002
3 PR R &/8B
/150 /150 /150

XeEBR100R L LTEE




4%k %19

FE  HIRER 75

RE

1RE10m (1505)

1 LO% X /077 =
2 3,687 X I3 =
3 754 X 5.7/3 =
4 /7./854 X L5 =
5 &/ x 4,773 =
6 <,785/ X S35/ =
1 7,650 X 406 =
8 EL X 72744 =
9 /78 X 5,004 =
10 I HL7 X 4L =
11 <033 X 560 =
12 4XE % L LEY =
13 &/ 4 X 7,080 =
14 L/.58/ x Jé =
15 7,704 X 450 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 78,720 SEY =
2 /70,064 L& =
3 L/ 43S 507 =
4 46,7853 767 =
5 372,65/ 4,007 =
6 /YL EEL SE7 =
7 405,268 7/ =
8 437,500 750 =
9 387,776 Y34 =
10 66,2867 /77 =
11 75,530 2,330 =
12| 366,04 606 =
13 L75,776 654 =
4] 57,37 48 =
15 /56,2858 L,/ /L=




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
358 7.077 520 6,876 <,580
L,706 4/ 6,020 7./03 5/.486
/476 46,585 570 754 4,00
—L46 3408 §./77 -57& §75
§8,/07 58,4/ 8 58,686 -/ /045 L4S
-30,077 Y,.3L7 57,4L6 —L33 5,56
5,786 L4S 7435 L, 7 67 LS TS
6 1 8 9 10
77,547 /073 6,760 4,038 564
47 Y2047 48/ 58,20/ §./08
2,334 756 7,086 7,560 67,850
77/ —L,40/ 32,8530 6,.6557 5,00
58,/ 6L 7,534 573 -77,007 L6,7 64
3.6/3 -0,768 66,047 543 738
4877 —/ 7L LN —467 7,020
11 12 13 14 15
5,070 7,335 3,605 53,263 <,787
36,/35 NN 57,0LL SY44E 40,/50
—L5¥ 6,5/0 —4637 YN 73,777
-/ /777 77,700 -8,/ 04 7,70/ /03
430 74E §,706 67,8868 /534
=-7.30/ 5,00/ 475 6,/ 30 375
5,878 87443 ~Ll, 57/ §70 $,050
3 PR R &/8B
/150 /150 /150

XeEBR100R L LTEE




4%k #13@

FE  HIRER 75

RE

1RE10m (1505)

1 598 x 2244 =
2 /& x 32,584 =
3| 05/ x  S04-=
4 905 x 2670 =
5| 4005 x 60/ -=
6| 2/./88 x 24 =
1| 7022 x  //0-=
8 633 x  &7// =
9 | 72828 x 38 =
0] &435 x 73/ =
] 9.682 x  443-=
12 350 x  &.024-
13 /6 x 57432 =
Ml 2249 x /5=
15 777 x 2020 =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 447,977 603 =
2 LE5,5 64 L/ L=
3 SL4,.370 6,8/0 =
4 /60,8538 L7 4 =
5 72,548 6,044 =
6 &4/,8540 7/0 =
7 L70,5/ L 5& =
8 SELI0S 773 =
9 S/ 8L/ L 53 =
10 /L4500 SL0 =
11 73/,025 §55 =
12| 543,235 77 =
13 400,568 bl =
14 L55,340 3,004 =
15 LE4,566 S5L6 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)
1 2 3 4 5
/2 3,794 2,077 66,704 7,80/
6435 649 275 §.0/6 78547
28,032 ~802 9,342 423 25/
63,743 ~ 443 553 9,270 4,074
675 33.8/9 70,287 ~8.890 3./30
7,208 ~386 Y-2/%) 354 72,658
4,567 /8,020 920268  ~38./58 945
6 1 8 9 10
40,620 93,022 2,002 508 256
79/ 754 489 72,742 8,367
~ 25,677 5./ 60 57// ~5,670 5460
-/ 04 U452 709 /802 9,400
2,05/ 3,050 50,703  ~49.504 3/.674
~3.068 5§32 4,056 655 38,899
6446 5,02/ 47,549 ~309 8./ 23
11 12 13 14 15
4,502 9/.08¢ /07 6473 3./ 56
55,845 220 94U 952/ / §27
~99/ 5,569 63.768 6,097 9,609
~2,090 36,689 ~2,098 /&3 60,307
2,098 9,006 2,769 96,559 309
—/ 8,89/ §97| -55.5/2 520 2,99/
566 /48 ~332 5,896 20./86
% B R &/%
/150 /150 /150

XeEBR100R L LTEE




4tk %14

FE  HIRER 75

RE

1RE10m (1505)

1 SH40 % 7.704 =
2 | /5,686 x S5 =
3 &8/ % 5,748 =
4 70L % L0468 =
5 44585 % 734 =
6 60 X% 5,056 =
7 74 X /&ETL=
8 /740 X /08 =
9 743 X L/ /L=
10| L5008 x /7=
11 <L/ S5 X 478 =
12 5,563 x bLL =
13 S7 x &§/,/65 =
14 7.0/0 % 426 =
15 /643 % 47/ =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 768453 703 =
2 /685,73 SLé =
3 3&E7.,L00 &/ 6 =
4 475,/ 04 4E4E =
5 /) 6406 5& =
6 /O4,) /L 7R3 =
7 S47.8// 607 =
8 YL34,/86 7,003 =
9 /SET SR /YYo=
10 77,676 2,077 =
11 /H4L,5 60 45 =
12| &7877X ELE =
13 57,8550 570 =
14 25L,R25L 7/ =
15 58/,5/6 687 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
537 5,04 6,6/ 4 /S04 73,62/
33,85L6 4,767 5§03 47/ 4,78/
&§./0/ —/ L& L5E 77.L77 /O%
42,558 -/.85/ 348/ -5,07/ 2,07 L
7.L260 3,7/8 7,040 556 77,023
666 — /4,67 §/.LE8 —40,8507 <L/ 6
<,307 3,08/ 46,577 3,560 42.3/8
6 1 8 9 10
7354 L7 S 5,067 ‘s 6,35/
557 5,065 770 §5./33 668
LES/ 47,725 74/ L &77 —L7/
75,650 7,58/ /7786 /37T 5,400
6,40/ S4LT7Y -/.503 68,677 —35.4L/
75,68/ 700 40,087 3,003 /.00
76 7./ 7L - 64 /758 §./7L
11 12 13 14 15
5,676 ©£7/ 55,305 6,666 740
57,3/7 L, I LS 655 35& 4E,60L
7,650/ 58450 85,043 5,704 /054
70477 2,050 568 36,580 -&,4350
L&/ /&7 7,706 /007 7,024
5,0/8 —67.785% 6£/,675 /6L —LL,568
Y43 -850/ <,77 6 778/ 7 -S43
3 PR R &/8B
/150 /150 /150

XeEBR100R L LTEE




4R

55150

FE  HIRER 75

RE

110 (1505)

1 735 X [/ LAL =
2 2,007 X 373 =
3| S/.446 X 47 =
4 S/ X L5678 =
5 04 x 4,550 =
6 48/ % 7./ Ll =
7 7,085 X &/0 =
8 | /&5.470 X 6L =
9 425 % L,585 =
10 5,024 % S06& =
11 5.8/8 X% L =
12 &40 X /403 =
13 L3 X 58773 =
14 $4,// % 7L =
15 LE57 % 3,080 =

B{%%: HIPREFRE 743
1 §8765 + 2058 =
2 70,554 ~ 3773 =
3 /L7585 + G/4 =
4| 4469,/95 =+ §77 =
5 S34,356 + 4,004 =
6 70,054 + 785/ =
1| Q0,500 =+ 630 =
8 £75.375 + 75 =
9 §E5L50 550 =
10| /388852 + 2//&=
1 577,40 -+ 7L =
12| /6,232 =+ 604 =
13| 3205686 + Y84 =
14 £76,76L + 77 =
15 408,727 + 56/ =




BEE 1R0A (150:)




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1fE10m (1505)
1 2 3 4 5
3.976 762 6,09/ 33483 Y
§0.257 /)78 483 /08 7,006
5.9/% ~32/ 6,732 7,32/ /7 HYO
38,567 £0.200 93./ 94 ~254 27
267 ~3.945% 46,352 ~ 4,049 9/
/028 —26./62 8,920 6.0/ 4 70,60/
35% §.2/0 569 ~/9.22/ 5,656
6 7 8 9 10
980 62,066 4/ 2978 487
9.3/ / 48 8,804 sS4y 5,020
665 59./3/ 50,054 /003 7,658
27.8/0 470 ~3.708 72,533 ~/0./0/
7,020 4.//9 ~998 9,03/ 2.0/ /
37.78% 8§20/ ~29.982 980 Y4898
2./ 2/ 4,088 /789 36./92 —484
11 12 13 14 15
52/ 6,032 S42/ Y 7.27/ 406
4,090 55,857 /. 2/ 495 6,230
32,22/ 9,020 3.009 7/757 8,05/
275 ~2.954 587 5,985 ~982
6./ 82 /,.980 754 65./8/ 59,606
§/.386 ~948 /388 §73| -2/.5/9
/987 ~ 28403 58,529 6,088 4,852
4 2 R &/5
/150 /150 /150

XeEBR100R L LTEE




4%k 16

FE  HIRER 75

RE

1RE10m (1505)

1 703 X &,/ L0 =
2 7.LL7 X $/7 =
3 4,/855 % 7LE =
4 L3 X 76 LLY =
5 /004 X 5§53 =
6 L&EQ X <077 =
T | §L£676 x 48 =
8 /S5 X 43T LL =
9 3,072 X 0L =
10 LLL X 7,6565 =
11 7.4 X /7L =
12 450 X% <507 =
B 37,655 X &/ =
14 LO4O X 43/ =
15 753 X 548/ =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 470,580 76 =
2 LE, 744 LEE =
3 /00,040 SLE =
4 770,500 730 =
5 L7/ 746 2,777 =
6 S47,673 &77 =
7 76,837 / 7/ =
8 §80,7/7 333 =
9 L) E5L4LT7 &3 =
10| S527,54L 763 =
11 747,630 770 =
12 75,788 6,708 =
13 bR3,777 77 =
14 XES7/L §868866 =
15 /80,774 LO7 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1710= (150R)
1 2 3 4 )
6,658 S3¥ 58,77/ 4,77/ §.077
7748 7.76/ S5/ 4 £6,6768 Y6585
/77 77,576 5473 755 -780
607 7,046 -5,603 5,007 —4L54S
/037 L/ 6 —L4E 77,758 -/0,058
37,568 7.787 -37.,007 3./ 7/ 4.//8
7/ 6 /& L4S 6,078 752 <,653
6 1 8 9 10
47 L0,/ 08 3./ 3% 7.7 L3 §7L
5,847 5,468 LOH4ET 5,080 55,8/ 4
/77 -784 Y470 —654 7,587
7/ 7 7,584 77.8585L -/0,/857 58,2/ 7
#5687 /4,607 avs 5,563 /00
4778 4LE §500 <L5,8586 7,685
6,04/ -<,070 5,547 —4,.307 Z,3L2L
11 12 13 14 15
8,574 4,387 65,5868 6,065 47
433 75,08/ 4,0/ 0 37.//7 8706
7,008 N <80 N VEINY -&.//0
47,774 -78% 5748 7,20 ~L/ L
70/ -7.03/ £7.7 /% 476 65,705
2,576 -33,7 3L /EE 5,730 40,780
52,70/ 7,804 5,40/ /7L /L3
3 PR R &/8B
/150 /150 /150

XeEBR100R L LTEE




4%k #17E

FE  HIRER 75

RE

1RE10m (1505)

1 L/ 7 X 7,060 =
2 7/ox /388 =
3 3.036 x LL0 =
4| 73742 X /Y=
5 <78 X 4,785 =
6 4,007 x §74 =
7 ‘4,7 % 6,L4LE =
8 5,064 x 605 =
9 76 x 792,853/ =
10 6/ 5 X /L) =
11 S07 X% L840 =
12| L/.7/4 x 5l =
13 /. /07 X% §50 =
14 3856 % L,/ 44 =
15 SHET77 X Sl =

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 7,375 3855 =
2 L0 5,200 S&0 =
3 /8,30 LY =
4 S LLHLOT7 60/ =
5 LAALLSE T 37 =
6 3&/,L/ 6 &4 =
7 74,520 /080 =
8 LE S, 4RLE 3,004 =
9 /ER,ET7 6 L77 =
10| 33,70 544 =
11 4&/,077 5,067 =
12 /54,76 584 =
13 LEYL /6 LS54 =
14 373,008 &/& =
15 SSL,37 6 49 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 110 (1503)

1 2 3 4 5
/73 69,557 686 6,82/ 4706
3/ 456 59/ 5,227 264 40,560
2,499 ~/9/ 38,/ /6 978 ~ 403
528 ~8.02% §2.6/ % /030 /78
3.0/8 4,702 6.3/ 3477/ ~20,059
26,047 —40.402 627 7,903 ~9,40/
7,622 3,827 9,728 66,609 6,029

6 1 8 9 10
4,034 5§73 7,677 5/./00 /29
26,/ 68 65./0/ 40,909 772 4433
659 2,00/ /7,002 ~2,009 /558
6,256 ~984 2.0/ 9 4,983 448
94y 3,220 948 ~582 50,673
96,892 - 6,207 8,37/ ~28.8// 8,07/
25/7 /5773 940 4,027 75,640

11 12 13 14 15
904 6,780 6,249 43,758 233
7.3/3 692 403 93,909 8489
30,9/0 954 ~ 4,937 4437 7,908
/783 202/ ~495% 5,00/ ~/0,058
4,046 4875 37,900 568 68,022
8§,/ 86 29.27°9 ~/ 2385 438 ~289
798 55,220 6.8/ 2 6,543 -9,2/0

% B R &/%

/150 /150 /150

XeEBR100R L LTEE




4%k 18

FE  HIRER 75

RE

1RE10m (1505)

1 24 % 3,66/ =
2 §& x 90./53=
3| s8.9¢67 x 53 =
4l 2077 x  706=
5 472 x 2070 =
6| /257 x  &/6-=
7 220 % 3.008 =
8 630 x 4,088 =
9| 4903 x  340-=
10 29 x 6543/ =
1l 3628 x  985-=
12 §/9 x /.4y =
18] 67,622 x 32 =
4| 5880 x  404-=
5 2563 x  322-

=B 1R0s (1508)
%ﬁ HIPRBFFE 79
1 78,378 /045 =
2 43,770 S/ 4 =
3 LYE3, 75X 77 =
4 SE53,447 &/ 7 =
5 /EEYLEY 3,567 =
6 3LE,6L0 405 =
7 75,364 LL7 =
8 YYRLEC /&4 =
9 /36,6/ L 2,007 =
10 /) 7EEL //E =
11 /EO,LLE 45 =
12| 407,400 §40 =
13 498,/80 E74 =
14 303,508 74 =
15| 488774 &77 =




RE

ﬁ,ﬂyﬁ HITRESEE 74> 1fE10m (1505)

1 2 3 4 5
57,546 73.507 5.006 205 529
528 33./// 358 &4 §3.// %
- /302 3.976 4,/89 ~852 5,934
~495% 242 93,682 7,509 6./ 00
8.0/ 6 9,030 20/ ~3.40% 46,/07
~25,584 529 /.03/ 3,404 &/
3.09/ 2088 27,092 39432 5792

6 7 8 9 10
/208 54757 7,005 3./ 42 .73/
30,08 59/ 2/.943 586 287
VA, 9,28 473 5,60/ 4,050
992 /54 ~3.022 62,698 /8,982
6,054 7,00/ 9,054 65,342 4685
~/5.98/ 46,/ 44 ~29% 205 7,977
5,056 7.3/4 /7,84 5,647 /0,572

11 12 13 14 15
585477 582 455 333 4,508
203 3./ 2% 5,987 5706 65,389
~554 3/.3/4 7/.897 —4 59 8/ 7
Yy /58 /22 6,84/ /033
§.670 JUEES 9./946 ~ /2235 5,964
~33.90/ 6,840 Y33 29.92/ 39,292
4865 4,/23 /) E ~3.004 366

4 2 R &/5

/150 /150 /150

XeEBR100R L LTEE




Ed B R Ed 3 R Ed 3 R
2,507,364 &6 3/,280 LS SELIY E4 S 70,904 566,975 L7éL /7Y
/. ERE L0 LEL V743 §855./77 L4 SLI40 /.0858,/ 84 S085F 63,627

77/.368 49 /76,768 LR/ LO04S XEEL /68./853 E720,/72 S S4993
S REELSET /YL R0/ 4 3,287,664 L7778 46.//3 5,676,588/ £50: 53,877
3,784,723 770: 4,076 /782,207 05 /60,/54 /RIESEL 560:  §4.76/
§E3. L/ Y 77 LOOSES /673,470 /88 /X536 /047,555 6,67/ 53,.5/3
7/6,3/0 446 38774 /.036,/ 7/ 44 207,396 763,800 30858 /77738
3./8LE7EE 3.L60F 80460 THYLOT7 6 /508 3LLE75 [ QHLE b LE0T7 /LT LS
708,/ L4 7641 70,936 3,27/ ,5L0 72 3/,028 2,323,230 74 3/.840
4867,/ 4/ L 23,57 768,/80 388 /47,930 774,560 EXL: /3 H44S
/. EL7,ELO L/ 4S8 4L/ E4.030 7/8 0 70,677 2,200,257/ L/ b4/ 6/
LLEZ/ES 476/ /4,707 3/3.90: 85,004 385399 3,653,758 §&7: /60,366
/770,280 709 7,805 6,75/ .488 /RE 77,068 873,77 L3 /93,007
7/87/8 378 720.859 7/ 7376 5L 107,/ 857 /570,750 483 60,532
b.RE4,876 /P8 /ETHTS /056,380 7,607 /0/,788 3,057,856/ 7,/8585F /64256
727,502 700 64,937 73LLEOL LETTE /38, 4L L7478/ 78 7/.L85
L,6L/,768 5,866 33,088 /027,686 605 63,05/ 3,/ 00,745 8576 /56,637
L ALL, 730 S43: 70,/00 478,/70 LE4: /b, EL 5,0/7,762 73 33,558
4,698,/ 74 L4 4 I37 /837,024 5&& 53,58/ 3,047,820 44 50,//76
3,538,776 4.68560F /L2450 4,203,/ 50 L5 S/ AIET /763,680 LL3: [/ 2,673
/307,027 7E4 5643 LL4,8556 E70 /77,073 77877 60 X3.L/0
777,040 771 /53,8523 7,537,736 600851 6,48/ éR3,6/0: 5,005 //0,76L
T4 ROL 2,94/ /48,60 /R33,/ 80 303 /38400 4,687,677/ L /30,370
/746,853 S47: /884 5,668,046 /88 /8,022 £77,930: 6,077 38868
LE47.5/8 /64 /28,766 /780,658 3,048 /38475 2,356,470 /66 /ERLS3S
754777 LESE S8/ HS 773,734 L&/ TH4ETS 3,346,066 85768 /40,707
E54,700 7R 4EET70 2,642,650 &4 36,847 /797./ 20 58 26,527
2,06/ ,462 YL /85843 /S TEYYLE 442 70,985 LH4E0,E7 6 7,.30/F T7/.400
2,653,560 §07: 32L5S5 747,320 S/ 79,307 758452 4L S 1947
E44 436 33/ /85,940 3,6/8.97% 76/ /48,687 /R4E300 L4 77,098
6,85/0,L76 SE&L /79,84 3.4,/ 008 6,50/ /L2737 723,840 4878 /60,360
689,704 S5/7 3,976 2,37 4,252 75851 55,6804 77/ 420 VA BRIV RNED
4,760,/ 0L 3/ /7737 /A3 4ES 4500 168577/ 2,796,/50 780: 87,434
/982,400 6,87/ 56,6522 LYHLE 306 708 40,764 457,026 72 29,398
EL8,407 IY4T7E S TRITT L4/ 7,578 78858 /07493 2/7.972 /. 303 /H4LESSE
4,030,653 &7 /706 44,800 L85/ 3/.704L <,/ 58,050 5&1 5/,645
2,337,342 7551 &/,743 /8L, 740 4 /48,76 2,077,/ 68 /i 430
/843,770 4,080 585,848 77/.800 LL4L /73,537 6,650,520 84 92./76
3,786,840 /R S4986 &003,845 373 40,306 E470,3L/ &L0: 79,//0
E74.37/ S04 873 388,775 7,003 /57,867 5,0/3,743 7331 #0,636
2,056,320 &8/ /76,047 LE7,860 gEs 77937 SH4O0L40F L0070 79,7856
/780,774 4085 37,250 2,053,330 LO07: 49.7/9 /7,600,032 /78 b9,/ 4
40,684 7,744 67,687 772/ 6 &7 /77,382 /706,625 303 /69.3/7
4,863,600 L33 46,636 /20,878 353 L9.9/8 2,/ 02,560 SRl /L4538
746,028 E78 /085,7L/ ES3.470: 5,00 /40,73/ /07,285 &7 /6,798




£ 23 R £ 23 RE ES 23 RE

ELE4EEE 80/ 67,573 /347 L 7338 /10787 8708360 64855 /7,728
2,038,/ 25 588 //2,8555 585,972 /2L 52,68/ 3. 848473 /08 /79,368
772,548 780: 5/.,95% AL S LY 778 /74584 3,046,680 3057 L6,/58
/9RE,/ L0 788 / /4286 L4/ 6,350 EE7 36,873 /753,672 850 /8/.3/L
/,8590,0/0% &40%8 38,4/7 407,005 /S ETHRE EEEH4 /L 78 4E,/69
2,683,856 L4 76,28 508,585/ 04: X/ L87 S48.740 07 /8,720
788,840 SL4: /78738 77R4L0; 4,664 S HELLT/ LELELLE 507 /85702
102,297,973 E/F 4837 13| 8,5/4.063 388 //7.8537| 16 55,830 L3 S 3L4SES
400,080: 6,077 L7.840 548780 6,004 /9,84 733,784 85,0031 S4I3¥
2,302,7/ & S//: 63,585 &,/ 64,523 370 97,279 /746,030 94 /32,907
L, 3,540 SLEL /48,585 L4EL766 E8& 485,337 /758,072 779 /ALLET
3,709,350 751 L4628 808400 7,085 /46,950 /R263,/ 50 Iy #8787
777,276 7888 //7.99/ 7/8.9/2 4 /347 3,050,085 6,30/t /49,/X7
7,656,447 /98 #7467 388,342 EEL A 3,7937 E77.240 3L 84./07
5,007,380 L0 /T74,/ 37 /567,540 S4/E /47,388 5.//3.773 &6 L7,/70
[ HEFEL0F 7,267 /7,708 3,367,360 &8/ 97,555 /848,740 LL7:  E/,L80
2,3/ 8,/ 60 08 /66,757 549,080 5098 XI.//7 06,205 S40: 30,059
LEL304 520:  7/.420 8,046,368 48500 /146,087 £67,9208 7,558 /40,34
8. 784,372 L/ /R7.ET7E LEL/ 676 78 38,68 /,032,/08 L07: //8376
L4L/,300 (£80: 36,003 L,/9/,7972 2,007 /ELI8S /HEEES0F 6,007 X/,4/0
/708,925 856 L3473 L3348,/ 60 JYYE: /EF,.336 3,582,258 S44 /37,870
7/3,780 && 89,905 728, LY 5730 /REL/O 2,597,076 £7: 585,89/
W /282,240 #4002 47./46|(14| 203,700 bR 4/ 4451 3,063,720 &&L 7/.846
2,7/3,768 SLEL 76,337 /942,376 798 96,/70 7.763.4/8 5&E L7480
/) 7,023 S5&: /48,475 48,/ 36 g4Es 39,877 S/ 6478 4308 /7/,/ 5L
EX/,33L LLE: /4 LLE /03,0708 3,/ 68 /74035 /475,560 7/ /33,970
/880,036 &788 0 7/.703 3,460,/ 86 (99 /6,34 /7986748 LE4 /L7882
L,067,700; 8,909 RE44/ 3,/ 685438 /08 /36,946 740,950 /O4: 33,347
725,560 704 30,735 2,786,260 2,772 /AL3I7E EXT,584 48588 /54057
70/.77 72858 /37,066 773,853 S44: RELTT /LT .84 65,078
LLYE,/ 76 L05:  65,/33 /048,826 4338 /30,368 783454 781 36,200
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